DQ Q exeR'~e, a Mux - Mutiplexer - Allows to adquire several channels
d l VGIA - Variable Gain Instrumentation Amplifier - Allows to use the complete
Q me —H,\Q, ,3(/{,, MIC 0{, Q DAQ dynamic of the ADC by amplifying the signal.

. % ADC - Analog to Digital Converter - Samples and discretizes the signal
0( thowu \';e A 2 FIFO - First in First out Memory - Place to store the samples before sending
them to the computer. The sending can be done by DMA (direct memory
access) or by other means, like by interrupt in the motherboard
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